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Table S1 Formulas for calculation of annual allowable cut in the Russian Federation 

according to the regulation of the Federal Agency of Forestry from 2011  

 Formula for calculation of annual allowable cut: 

By area, ha By volume, m³ 

ha
-1

 

Even-age is used when forests have 

relatively even distribution of forest 

stands and timber resources in 

different age classes 

Lp = F/U Vp= Lp V m+ov 

The first age is used when forests 

have depleted wood stock in mature 

and over-mature forest stands (less 

than 20% from the total growing 

stock) 

L1= Fpm + F m+om /2K V1 = L1 V m+ov 

The second age is used when the 

wood stock of mature and over 

mature forest stands correspond to 

more than 50% of the total growing 

stock 

L2= Fmd +Fpm + F m+om /2K V2= L2 V m+ov 

Integral is used in the same cases as 

the previous one (the second age)  

Lint = (0.2Fy + 0.6Fm+ F²m + 

1.4Fpm + 1.8F m+ov) x 0.01 

Vint= L int V 

m+ov 

 

F – the total area of forests used for wood production; U – age of final felling; Fy – an 

area of young forests; Fmd – an area of middle age forests; Fpm – an area of pre-mature 
forests; Fm – an area of mature forests; Fov – an area of over mature forests; K – a 

duration of age class in years; V m+ov – mean volume of wood per hectare in mature 
and over-mature forests. 


